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CRANBROOK SCHOOL

Year 9 MATHEMATICS (Accelerated)
e VEAR \O MATHC

Time: 2 Hours / BES

NAME :__

Show all working and pay particular attention {o setting out.

Marks may not be awarded for careless or untidy work, or where working is not

shown.
Each question is werth 10 marks.

Factorise and simplify

i. 4x* —1
ii. 3x* +81x
iii. 3x* +5x-8=0
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Solve simultaneously

2x=-5y=122
4x+3y=5
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c. Water is being pumped into an in-ground swimming pool which is in the shape of a
hemisphere. The pool has a radius of 12 metres. Water is flowing into the pool at a
rate of 90,000 litres per hour.

i. What is the volume of the pool in cubic metres?
4 —
- -
e
i Whait is the capacity of the pool in litres? -
’ t - =
iii, How long will it take to fill the pool to the nearest minute?
P - N
- e
4.a.  Find the value of x in the following diagrams correct to 2 decimal places.
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ii.

b. Find the value of @ in the diagram to the nearest minute.
27.1
© /
17.6 )
b. A triangle has sides 5cm, 9cm and 12cm in length. Find the size of the smallest angle
correct to the nearest minute.
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5.a.  Find the area of the following triangle. Use your knowledge of exact trigonometric
values to write your answer exactly.
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b. David is standing on top of a tree. He sees a bush on the-ground, due noru of the ffeey— ——

at an angle of depression of 37°. He sees a chip packet on the ground, due south of the | _ °
tree at an angle of depression of 62°. The bush is 39 metres away (in a straight line)
from David. (The base of the tree, the bush and the chip packet are in a straight line)
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i. Draw a diagram to show this information.
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ii. What is the distance from David to the chip packet to the nearest centimetre?
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iii. What area can David see from the tree. Think about this and give.reasons.
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